7. Analyse the rise of Socialism in France. 117
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8. Explain the New Economic Policy of USSR and
why was it implemented ? June/December — Examination 2020
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9. Discuss the global impact and significance of the HISTORY
Russian Revolution. (World History 1815-1918)
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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.
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Section—-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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What was the ‘Eastern Question’ ?

‘et wue’ oot ?

Who established Young Italy and when ?
fFee JaT T2ell Ft TAT Hi SR Fe ?

Define Impressionism.
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What do you understand by new
imperialism ?
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Which area is called as the Balkans ?

e &% =1 aewT FEl S T ?

What was the immediate cause of the First
World War ?

v fova Ig k1 dreRifares RO I oar ?

What was the chief consequence of the treaty
of Brest-Litovsk ?
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(viii) Define Fabianism.
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Section-B 4%x16=64

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 16 marks.
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. What were the main impediments in the

unification of Italy ?
sl & WhIhLOl H T&F oemd &= of 2

. How was urbanisation related to industrialisation

in 19th century Europe ?
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aqr ?

. What was romanticism and how was it linked to

Nationalism ?
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. Discuss the impact of imperialism.
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. Describe the causes of the first Balkan War.
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